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Base relation Attributes( )

—

%'I.l‘l.l'ek.a Knowledee Explarer . _I_I- =] EI

Preprocess
Open file... Open URL ... Open DB... Apphy Filters Replace Save... |
-Base relation AWorking relation
Relation: weather Relation: weather
Instances: 14 Attributes: 5 Instances: 14 Attributes: 5
-Attributes in base relation Te— Filters
HaddFilter -M unnamed -2 0 add
all Honhe Invert
M. | arme

1 {wlioutlonk

2 lvltemperature

3wl hurmidity =

4 [wlwindy Delete

5 vl play -Attribute info for base relation

Hame: outlook Type: Hominal
Missing: 0 (0%) Distinct: 3 Unigue: 0 (0%}
Label | Count

Sunmy 5
overcast 4
rainy L3

~Log
|| XTI eman weKasuppom@cs wWalkato. ac.nz |:J|

P L B L B




% Wieka Knowledes Explorer

Preprocess

=10l x|

Open file... Open URL ... Open DB... Apply Filters Replace Save... |
-Base relation AWorking relation
Relation: weather Relation: weather
Instances: 14 Attributes: 5 Instances: 14 Attributes: 5
-Attributes in hase relation Filters
AddFilter -M unnamed -C 0 Add
all Hone Imvert
Mo. | MName Att“bUte I nfO
1/l outlook
2vltemperature
3wl humidity )
4 [winy Belcie
4 [vl|play v - Attribute info for base relation
Hame: outlook < Type: Hominal >
Missing: 0 (0%) Distinct: 3 b : 2
| - . Lahel. | Count
Type:~ Nominal s
overcast 4
rairy ]
—_—
-Log
T emall Wekasuppom@cs walkalo ac.nz -
22:11:32: Started on #A<BEH , 3 7 A 2003
22:12:05: Base relation is now weather {14 instances)
221 2:05: Working relation is now weather (14 instances) =

-Status
OK

-




% Wieka Knowledes Explorer

Preprocess

=10l x|

Open file... Open URL ... Open DB... Apply Filters Replace Save... |
-Base relation AWorking relation
Relation: weather Relation: weather
Instances: 14 Attributes: 5 Instances: 14 Attributes: 5
-Attributes in hase relation Filters
AddFilter -M unnamed -C 0 Add
all Hone Imvert
Mo. | MName Att“bUte I nfO
1/l outlook
2vltemperature
3wl humidity )
4 [winy Belcie
4 [vl|play v - Attribute info for base relation
Hame: outlook < Type: Hominal >
Missing: 0 (0%) Distinct: 3 b : 2
| . . Lahel C | Count
Type=~ Numeric s
overcast 4
rairy ]
-Log
T emall Wekasuppom@cs walkalo ac.nz -
22:11:32: Started on #A<BEH , 3 7 A 2003
22:12:05: Base relation is now weather {14 instances)
221 2:05: Working relation is now weather (14 instances) =

-Status
OK

-
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=10/ x|

-Clasiﬁ
|Ee roR |

~Test options -Classifier output

) Use training set

1 Supplied test set Set..,

® Cross-validation Folds |10 |
' Percentage split % |66

More options...

{Nom) play A
Start Stop
~Result list
Log
XT3 emar wWeRasUpporEcs walkalo ac.nz e
22:11:32: Started on AB8H , 3 7 A 2003
22:12:09: Base relation is now weather (14 instances)
221 2:05: Working relation is nove weather (14 instances) =




Classifier (ZeroR )

weka.classifiers.ZeroR o

weka.classifiers.DecisionStump
) Use training set weka.classifiers.DecisionTable
S weka.classifiers.HyperPipes
Supplied test set Set...

2 SpiG tostx “weka.classifiers.IB1

i® Cross-validation Folds Eweka.classﬂiers.lBk

() Percentage spiit o Eweka.classmers.ldﬁ

weka.classifiers.j48..J48 -
| More options... |

27 Test options

i
- - | Nom) piay -
{ Simplecll | £y [ star [ s |
Il Resutt list

“Log
[ZZTT 3 emall wekasUppo e s. walkato. ac.nz =
22:11:32: Started on #<B8H, 3 7H 2003

22:12:08: Base relation is now weather (14 instances)
2312:05: Working relation is now weather (14 instances)

-Status
OK

cAps
FAHA

E

;azg—b”J e 5o |J Cweka-3-2-3 | 90— T2 | BITRUFE 700 |+ Weka GUICh.| tika knowle. | [E]Microsoft Po.. |[EwekaguiG.. | @A 2225




) 199
University ¢, sifier
Mew ¢

|Zer0R

weka.classifiers.ZeroR 5

P

e 4""% -Test options

weka.classifiers.DecisionStump
) Use training set weka.classifiers.DecisionTable
: . weka.classifiers.HyperPipes
Supplied test set Set... !

12 Bes tex se “weka.classifiers.|B1

i® Cross-validation Folds Eweka.classﬂiers.lBk

() Percentage spiit o Eweka.classmers.ldﬁ .

weka.classifiers.j48.48
| More options... |

Al

|'(Num) play - |

o [ ][ sor |

Result list-

“Log
[ZZTT 3 emall wekasUppo e s. walkato. ac.nz =
22:11:32: Started on #<B8H, 3 7H 2003

22:12:08: Base relation is now weather (14 instances)
2312:05: Working relation is now weather (14 instances)

-Status
OK

cAps
FAHA

;agg—b”J e He |J Cweka-32-3 | n—b 72| BTk T | > tioka GLI o| ek anle...l [ Microsoft Po.. |[ 2 wekaguiG.. |S@AL 2225
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Waikato Environment for
Knowledr

jectEditor

‘weka.classifiers.ZeroR

-Cl
|ZeroR:

weka.classifiers.ZeroR
weka.classifiers.DecisionStump
Pk, classifiers.DecisionTable
weka.claSsifiers.HyperPipes
weka.classifiersie
weka.classifiers.Bk
weka.classifiers.ld3

A7 Test options-

() Use training set

) Supplied test set Set., |

® Cross-validation  Folds E
() Percentage split S |6

| More options...

Sl - |(N0mlplay-

Simple CLI | N

Result list

dobe B
Acrobat 5.0

i ~Log
(LT3 emall weKasUp porigoe s walkaio. ac.nz a
22:11:32: Started on <B8H, 3 7H 2003

22:12:09: Base relation is now weather (14 instances)
22:12:05: Waorking relation is now weather (14 instances)

~Status
oK

wlhiraoilll & @ mA ey || Setacacoce | mnchn 200 | @k g, | e era min e | et vemla | FElbicemnns o-



11 OK”

Butfers Files Toolz Edit Search  Mule Help

- Classifier

148 -C 025 M 2 weka.classifiers j48.J48 v/

binarySpiits | False |

confidenceFactor |E|.25 |

mindumObj (2

numFolds |3

(o) play

| Start

-Result list

uselaplace

| Open... || Save...

~Log

T34 email. weka SUpporecs walkalo ac.nz
22:11:32; Started on /880, 3 7H 2003

22:12:05: Base relation is now weather (14 instances)
221205 Working relation is now weather (14 instances)
-Status
OK

J102




3{:& Wieka Knowledee Explarer

IR [=[F

~Classifier

25w 2

N

~Test options
() Use training set
' Supplied test set

(@ Cross-validation
(_ Percentage spilit

\\ Classifier output

N\

Set..

Folds {10 |

/
More options... //
NN 7
(Nom) play g
Start Stop

~Result list




“(Nom)”

%&'I.l'l.l'ek.a Knowledee Explorer L I |I:I|£|

~Classifier
J48-C0.25-M 2 |

~Test options -Classifier output

() Use training set

(1 Supplied test set Set..,

® Cross-validation Folds |10 |
(_ Percentage spilit % 66

| More options... |

p—
(HNom) play v
Start Stop

~Result list




Start

3{:& Wieka Knowledee Explarer

IR [=[F

~Classifier

48 -C 025 -M 2

~Test options

(1 Supplied test set Set..,

() Use training set

® Cross-validation Folds |10 |
(_ Percentage spilit % 66

More options...

(Hom) play -

Start ) Stop

~Result list

-Classifier output




=101 x|

~Classifier
48 -C 0.25-M 2 |
~Test options -Classifier output
i >
(_} Use training set === RFun informat ion === \
Supplied test set Set..
L) Supp _| Scheme: weka.classifiers. 48,48 -G 0,25 -M 2
@ Crossvalidation Folds |10 | ||Relation:  weather
: 11 Instances: 14
P nit lit Y hH
e Y R bt ributes: 5
More options... out | ook
temperature
Rumidity
w
fHofmnlay windy
play
Start Stop \ Test mode: 10-fold cross-wvalidation /
~Result list N

=== Clagsifier model (full training set) ===

18:06:12 - j48..148

J48 pruned tree

4]

out look = sunny
-Log
T OB TS Base relalion s now weather (T4 Instances) -
18:06:02: Working relation is now weather {14 instances)
18:06:12: Started weka.classifiers j48.143
18:06:12: Finished weka.classifiers j48.448 =

-Status

OK g *°




i ks Knowledee Explarer g —I—I- 0 EI

~Classifier

J48-C 0.25-M 2 |

~Test options ~Classifier output

' Use training set Vs
/] === Classifier model {full training set) ===
(" Supplied test set Set...

® Crossvalidation Folds [10 | ||| /48 Pruned tree
) Percentage split L @

out look = sunnw
|  humidity <= 75: wes (2.0]
|  humidity > 75: no (3.0)

More options...

{Nom) play o out look = overcast: ves (4.0
out look = rainy
Start Stop |  windy = TRUE: no £2.07)
el | windy = FALSE: wes (3.0
18:06:12 - j48.148 Mumber of Leaves b
.Size of the tree @ b /
N—
-Log
TH ORI Base relafion 15 now weather (T4 insfances) =
18:06:02: Warking relation is now weather (14 instances)
18:06:12: Started weka.classifiers.j43.443
18:068:12: Finished weka.classifiers.j43.443 =

-Status

OK g *°




=18 x|

~Classifier

|J48-C 0.25-M 2

-Test options ~Classifier output

| »

£ Use training set )Hﬁtaken to bulld model: .03 secaonds

) Supplied test set Set...

=== Ztratified crozz-validation ===

@ Cross-validation Folds [10 === Sumary == T eg O ptl on

' Percentage split s |GG
| Correct |y Classified Instances 4 A7. 1429 &

More options... 1 tly Classified Inst 6 128571 % O_f Id C I at|
ncorrect [y AzETIT |12 nstances - — 1 O r O$Va I O c,l.tl On

Kappa statistic

‘{Num} play . | Mean absolute error 0.3671
Root mean squared error n.5214
Relat ive abzalute error 76.9231 &

‘ il ‘ ‘ i | Root relative squared error 108.734 &

~Result list Total Mumber of Instances 14

18:06:12 - j48.J48
=== Detailed Accuracy By Claszs ===

\ TP Rate FP Rate Precizion Recall F-Measure Class

\ 0.778 0.g 0.638 0.778 0.7 ves
~: 0.z n.z2z2 0.333 0.z 0.2 no
P g

=== Confuzion Matrix ===

ahb  <-- clazzified as
72| &= ves
41| b=nn

-Log r - o
e @ISO VAt X =
18:06:02: Working relation is now weather {14 instances)

18:06:12; Started welka classifiers j48.148

18:06:12: Finished weka.classifiers j48.448 =

~Status

|
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Result list

_ol |
Classify
~Classifier
J48-C 0.25-M 2 |
~Test options ~Classifier output
() Use training set Mean abzolute error 0.3671 -
Root mean squared error n.5214
(! Supplied test set | Seti, Relative absolute error 76.9231 &
i Root relative squared error 108.734 ¥
® Cross-validation  Folds g Total Mumber of Instances 14
() Percentage split % I'aa |
i === Detailed Accuracy By Class ===
‘ More options... ‘
TP Rate FP Rate Precizion Recall F-Measure Class
|(Nnm]pla‘_v V| 0,778 0.4 0. B3k 0.778 0.7 ves
n.2 n.22:2 [IIEEE] n.:2 0.2k no
Start ‘ Stop |
=== Confuzion Matrix ===

3 . ~
Hesult list N\

|‘ ah —— rla=s=ified a=

22:50:13 - j48.048 /

Yiew in main window

Yiew in separate window

Save result buffer

-Log
FITIIa Bazerelafion s n
221205 Warking relation i
22:80:13; Started weka.clag
22:80:14: Finished weka cl

Visualize classifer errors

Visualize tree

Visualize margin curve
Visualize threshold curve »
Visualize cost curve ]

-Status
OK




Result list

_ol |
Classify
~Classifier
J48-C 0.25-M 2 |
~Test options ~Classifier output
() Use training set Mean abzolute error 0.3671 -
Root mean squared error n.5214
(! Supplied test set | Seti, Relative absolute error 76.9231 &
i Root relative squared error 108.734 ¥
® Cross-validation  Folds g Total Mumber of Instances 14
() Percentage split % I'aa |
i === Detailed Accuracy By Class ===
‘ More options... ‘
TP Rate FP Rate Precizion Recall F-Measure Class
|(Nnm]pla‘_v V| 0,778 0.4 0. B3k 0.778 0.7 ves
n.2 n.22:2 [IIEEE] n.:2 0.2k no
Start ‘ Stop |
=== Confuzion Matrix ===

3 . ~
Hesult list N\

|‘ ah —— rla=s=ified a=

22:50:13 - j48.048 /

Yiew in main window

Yiew in separate window

Visualizetree

-Log
FITIIa Bazerelafion s n
221205 Warking relation i
22:80:13; Started weka.clag
22:80:14: Finished weka cl

Visualize classifer errors

Visualize tree

Visualize margin curve
Visualize threshold curve »
Visualize cost curve ]

-Status
OK




Fit to Screen

% Weka Clazs

ifier Tre

e Vizualizer: 2256013 - j48 48 ineather)

=101 x|

~Tree \Wiew

AN

Center on Top Node

Auto Scale

Select Font

= sunny

= 0ove

reast

= rait




Alt+PrintScreen

88 Weka Classifier Tree Visualizer: 228013 - j48.J48 (weather! ) =10] x|

~Tree Wiew

= sunny

-

==T5 =

= overcast

wo

o ome ome

= rainy

—TF:UE =FALSE
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